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B-3-1 fR&IEE m?2 3,000 150 450,000
B-3-2 /EJE Bt KR m? 3,000 120 360,000
B-3-3 BEHE KR I m?2 3,000 500 1,500,000
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C-2-4 EHREHEANRNMENE m?2 5,000 6,000 3,500,000
C-2-5 MBEERIHER(SEBLIE IME - BAOKE) A 1 2,500,000 2,500,000
C-2-6 BRATEAE(H:15M, W: 2~2.5M) m 25 250,000 6,250,000
C-2-7 HMENREBEYRN m?2 495 27,300 13,513,500
C-2-8 1tE##EEL = 1 800,000 800,000
C-2-9 HWERSITE(ZER - RHA) m?2 5,000 850 4,250,000
C-2-10 fBB%HEE = 1 900,000 750,000
C-2-11 E(EEE - RRRE - 2N - R EEE  RI[FEE  TEEHFD) N 1 18,100,000
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C-3 Ll Er BF & A ith 15,312,000
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C-3-4 HEHGE(L(SEHBIEE  BL MESBSK  BEKR - #hR) m?2 5,500 900 4,950,000
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D-3-2 HEER M 800 2,000 1,600,000
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D-3-5 EHEt(ZEE  RRE 25N  RAELSE  REEEE - TEEGAFS) I 1 1,568,000
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D-5-4 1EERZFEE E= 1 1,000,000 1,000,000
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